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図の網掛部の面積をU とすると、 UTS  であるから 

 

 

00000

0

2
0

64

40
0

2
0

2
0

0202

2

2724

2

7528
4

4

560

2

1

4
4

464

2

12
))((

2

1 2
0

2
0

2

0

yyyyy

y

y

xy
y

yy
dx

x
yyxxU

y

y

x

x







































 

 

 

したがって 
000 2

54

2

27

2

81

yyy
UTS   

2

3


S

T
 ……(答) 

 

y

x
0x

1x

2x0

0P

2P

1P



(3) 

02101  PPPP より 

 0
2

332

4

3

2

34812 2
03

2

4
0

26

002
0

2
0

 y
y

yy
yy

 96
0 2y  222 2

3

0  y  ……(答) 

 

(4) 























2

2
,8,22,

2

1
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